Table 2n

Tertiary Tree of Primitive Pythaorean Triples
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Table 2n.

These simple
equations were
used to fill in the 8
parameters shown.
The Areas &
Perimeter are easily
calculated.

The key is to use
the Previous
Tertiary Branch
values to solve the
Next Branch.
(See Table 2I.)
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P=Corevious P=rmid-next =~ 2P=APmid-next & next
2P+ Pnext=2P+Cprev=Cmid-next-uppercluster
2P+ Pnext=2P+Cprev=Cmid-next-middlecluster
2P+ Prext=2P+Cprev=Cmid-next-lowercluster
fmiec=constant fun+Pur=rmid f mid=Pmid-next="ru/-next
fmid+Pmid-next=lut-next VBA+f2=furnext f=b-a=t-s p+r=s+t

c-b=s c-a=t a+C=Smid-next b+C=lmid-next  Imid-next=2 (a+b+cC)
rup-next=2 (a+b+c)/a for outside only

ro-next=2 (a+b+c)/(a/2) for outside only
P=2c+r c-2r=p c=2r+p 2P+Pnext=2P+Cprev=Cmid-next-middieciuster

C - luinext= fmid-next Imid=P = fur  Fmid = fmid = fun= fusl

C-fmid=Ful-next  C+fmid=Tu/-next 4A=rui-next factors
> of s,t cross-members within a cluster are equal, AND, they
follow a number pattern sequence down the table with linkage

(2 entries), AND, always 1 EVEN & 1 ODD
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